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<B#&> 20. &

[AE#1]
BB BFH R R | BR=E| &% =R iy
kv =8 E % JUAF i B AR B#H =1 Big A | BSRS R | AR | IR | B8R i &
= XHE hEXTEEE FOSEAENELDSE A&t | 5.00 3.26 8.26 8.260 | 0.010 | 3.270 | 3.20
2 POF NERBHIEES—AD [E0ISARVEBHEES—X> | FTAERE | 4.70 3.07 7.77 7.770 | 0.030 | 3.100 | 2.80
<BF> 21. IUIRE
[AE#1]
BB BFH R R | R =| &% =R iy
4w =8 E % JUAF i B AR B#H =1 =S \ B | B | Al | P | B = s &
& NS E#E BF RE F ShE IFAFS - 2 4.90 3.20 8.10 | 8.100 0.080 3.120 3.00
<BF> 22. ihERE
[AE# 1]
BEhEsa BH R R¥ | RE| EY = K
JIEfT G| K % JUAF Fr B A BfH =1 £=hg, i \ R | B | A | EESR | B = fm &
& NEEE BF Ihm =E PEE YpSHEL RS 5.00 342 8.42 | 8.420 0.030 3.390 3.30
<gF> 23. REE
[AE#1]
BB BFH R R | BR=E| &% =R iy
kv &8 E % JUAF T B AR B#H =1 £=iE i \ Bl | B | Al | P | B = i &
& NBEE &F A+ % EL5 b4 HEES 4.60 3.22 7.82 | 7.820 0.020 3.200 3.10
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<BF> 24. {=HFEMHA
[AE#1]
BB BFH R =% L E | '3 =R iy
v &8 E % JUAF T B AR B#H = =iE i \ Bl | B | Al | P | B = i &
] EiELMHA BF =H EE &LIE DhHE HEES 5.00 3.26 8.26 | 8.260 0.040 3.300 3.20
<®ZF> 25. EHBIHA
[AE# 1]
BEhEsa BH R R¥ | RE| EY = K
JIEfiz FE=] K % UAF Fr B A BfH =1 £=5ig, i \ R | B | Al | EEsR | B = fm &
& EHEMA &F TXK <hdp obiL <hdb HFEE4H 5.00 3.40 8.40 8.400 0.040 3.360 333
<B¥F> 26. k¥
[AE#1]
BB BFH R R | BR=E=| &% =R iy
kv =8 E % JUAF T B AR B#H =1 Big A | BSRS R | AR | PR | B8R s &
& & BF g EX #Hh 1TAT= FrE et 3.20 2.64 5.84 5.840 0.110 2.750 2.61
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<@F> 27. BE
[AE#1]
BB = BFH R R | BR=| &% =R iy
kv &8 E % JUAF i B AR B#H =1 =S \ B | B | Al | P | B = i &
& R# xR KF Lh0T fFF 4t 4.30 3.07 7.37 7.370 0.070 3.000 2.90
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<BF> 28. {EHEIIB
[AE#1]
BHER BYERS =i | RE | BEY = 1K
v &8 K % JUAF T B A B =1 =g fh | BERE /e | S | PR | B R fm &
] & HB BE A E3FD =35 b YEE 2 5.00 3.40 8.40 8.400 0.000 3.400 3.40
2 EHEEWB AIE BT FAL HITE Rt 5.00 3.29 8.29 8.290 0.010 3.280 327
3 RIREWB R %8 TIED f=h#H i 5.00 3.20 8.20 8.200 0.020 3.220 3.20
4 =i %4 B NI BEA BHH [Fwe FrEZEH 4.80 3.30 8.10 8.100 0.010 3.290 3.22
<®ZF> 29. {EHEfIC
[AE#1]
BHER BHERS =i | BRE| BEY = 1K
kv &8 K % JUAF i B A B#H =1 =iE i \ B /e | S | PR | B A fm &
&= {EifZfirc WWF & PET VeH HEE4d 4.80 3.11 7.91 | 7.910 0.010 3.100 3.05
<BF> 30. EHEHiC
[AE# 1]
B8R BH R R¥E | RE| D = K
[={ivi B8 K % JUAF Fr B A#H BfH =1 B8 4 | B5RE BR | ER | IR | BR fm &
&® {=iftEiC F5 8 TLE 530635 Bl FE | 500 3.39 8.39 8.390 0.010 3.380 333
2 i=i#fiZffic AH XE& HET- PFEE At 4.90 3.42 8.32 8.320 0.020 3.400 3.35
<EF> 31. RESRWE
[AE# 1]
BEhEsR BY R R¥ | RE| EYD = K
[1={ivi &8 K % JUAF i B A#H BfH =1 £=hg, i \ Brfisl BR | ENR | IR | B R fm &
& N EHW AH B LD b4 FESd 470 3.02 7.72 | 7.720 0.080 3.100 3.00
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<ZF> 32. REEHRM
[AE#1]
BHER BYERS =i | RE | BEY = 1K
v E8 K % JUAF T B A B =1 =iE i \ B BR | AU | IR | B R fm &
& RERBW #®0Oo EE ZOLSE W34 - La 4.90 3.35 8.25 | 8.250 0.030 3.320 3.25
<BF> 3 3. ImsEsEE
[AE# 1]
Baies BHRES R¥ | RE| EY = K
B4z B8 K % UhF T B AfH BfH =1 £=5ig, i \ iS5 Be | ER | IR | B R fm &
& NRIEHW ILEA #EEE PFEE UpSEL HFEE4H 5.00 3.41 8.41 | 8.410 0.010 3.400 3.35
<BF> 34. REEHBW
[AE#1]
BHER BHERS =i | BRE| BEY = 1K
kv &8 K % JUAF T B A BiH =1 =g fh | BERE R | AR | FER | B = fm &
& REERW % K= DLD F=l Ly e 4.90 3.83 8.73 8.730 0.140 3.970 3.70
2 R#EHEW g X #Hh TATz FrEZEH 3.50 2.60 6.10 6.100 0.040 2.640 2.58
EiE E&EHEMW A OME HIL FIVZ HEHd
<&ZF> 35. EHEk
[AE# 1]
Baies BHRBS R¥E | RE| &Y = K
B4z #8 K % UhF T B A%H BfH =1 B8 4 | BSRE BR | R | IR | B R fm &
& =it ®HX IRE TTFEE Vi BElLd#E | 500 3.39 8.39 8.390 0.020 3.370 3.33
2 G TR <hd o3& hbH HEEE 5.00 3.36 8.36 8.360 0.020 3.380 3.35
3 EHEER HO Z¥ =<5 W2 BELbME | 440 323 7.63 7.630 0.000 3.230 3.18
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<SBF> 36. &hH#EH

[AE# 2]
BHER BHERS mi | BRE | BEY = 1K
=i 8 K % JUH+ B AfE B#H =1 B M | BER BR | AR | R | B s &
141 =R BN s hLE 5% Bl | 500 3.59 8.59 8.590 0.020 3.570 3.50
2f% =it R iz THES hFE ElLd#E | 500 358 8.58 8.580 0.050 3.530 3.45
3 G NI BEA BEHH [Fee it 4.90 3.36 8.26 8.260 0.060 3.300 3.20
4 =i ai HH XE& HE- PFEE Rt 4.80 3.42 8.22 8.220 0.000 3.420 3.38
5 G ATE B FALE H#TE bk 4.80 3.29 8.09 8.090 0.030 3.260 3.15
6 EHEER AR Eh TS f=h At 4.80 3.25 8.05 8.050 0.010 3.240 3.24
7 G BE KA E3FD =35 RS 4.60 3.25 7.85 7.850 0.070 3.320 3.22
<&F> 37. REEBW
[AB# 1]
Baies BHRBS =€ | RE | B =% iv
[1=0ivi &8 K % UhF T B AfH B#E a5t | El M | K BR | ER | IR | B A S
& EEEHRW A BHBE EVEE HTH RS 5.00 342 8.42 8.420 0.050 3.370 329
2 RE#ERHEM HEE T 5Bt HAKE HEEE 5.00 3.40 8.40 8.400 0.000 3.400 3.30
3 R&EHEW #O BE [FHOLCE W3A FEEM 4.60 3.27 7.87 7.870 0.010 3.280 3.25
4 RERHEW KR BFE THRT fEE At 4.20 3.10 7.30 7.300 0.030 3.070 2.95
<BF> 38. afXiEzs
[AE# 1]
BaEs BHRBS mi€ | RE | B = &
[1={ivi &8 K % UhT T B A#H BiE =1 B M | B BR | ENR | IR | B R %
& b w it EaR —4t IEE HTE FESd 490 3.57 8.47 8.470 0.000 3570 3.44
2 W Nt BRI & FEhh LB e 5.00 3.40 8.40 8.400 0.010 3.390 3.30
3 SXXmE =Y 7 AT A B 4.90 3.46 8.36 8.360 0.030 3.430 3.30
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<&ZF> 39. 32x:-42xXE@R

[AE# 2]
Baem BHRBSR R | B E | BY = &
=i 8 K % JUH+ B AfH B#H =1 B M | BER BR | AR | R | B s &
141 32z - 42X KAB A hEH AXF ThD <& i1 2 4.90 3.58 8.48 8.480 0.030 3.610 3.52
241 32z - 42X KB A =5 SR HED wEh i:3: 34 490 357 8.47 8.470 0.020 3.550 3.50
3 32 - 42X K1E | Tep BERX =it £2% e 4.80 342 8.22 8.220 0.040 3.460 3.38
4 32 - 42X K1E & INE HES B HEC Ry 4.80 3.40 8.20 8.200 0.030 3.370 3.30
5 32 - 42X K1E & HE Ex f-LFE LGEH 12 4.60 3.35 7.95 7.950 0.060 3.290 3.15
6 32 42X K1E & hR &F BhES fzhC HEB 450 3.41 7.91 7.910 0.020 3.390 3.31
7 32 - 42X K1E & B EK blaR #Ab& & A 4.40 3.28 7.68 7.680 0.020 3.300 3.26
8 32 - 42X K1E & Ik =¥ KES &£5C e 4.20 3.32 7.52 7.520 0.010 3.330 3.25
9 32x - 42X K 1B i BEEF PFELE YR e 410 3.35 7.45 7.450 0.020 3.330 3.25
<BF> 40. 324 2KKE8
[AB# 1]
Baes BHRBS R | R E | B = 1K
=i &e K % UHT T B AfR BiE a5t | EB A | KE BR | M | TR | B &
& 323K - 42X KiE#l Hi EH WiE OB B 4.80 3.54 8.34 8.340 0.060 3.480 3.42
2 32 - 42X K1E | R #& 5 VAL BE 4.80 3.53 8.33 8.330 0.000 3.530 3.50
3 32 42X K1T & BE E SH1 fAH 1= 4.80 3.48 8.28 8.280 0.070 3.550 345
4 32 - 42X K1E & I ASdhh 50 ’BERY 470 3.46 8.16 8.160 0.000 3.460 3.42
<LF> 41. EBEXER -7
[AB# 1]
Baes BHRBS = | RE| B =g i
=i &8 K % UhF T B AfH BiE =) B A | B TR | M | TR | B &
& BEXER -7 AR BHF I %o b 5.00 343 8.43 8.430 0.050 3.380 329
2 B#AER - 7] Bk ek VEIES TGZ de 4.80 3.46 8.26 8.260 0.020 3.440 3.32
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[AE#1]
BHER BHERS mi | BRE | BEY = 1K
kv &8 K % JUAF i B AfE B =1 B8 4 | BERS /e | EME | R | B A s &
& BEXER -7 L Lo LIS e 4.90 3.57 8.47 8.470 0.000 3.570 3.53
2 BEAIBE - 7] i AT ZAES I3~ At AL 4.90 3.48 8.38 8.380 0.090 3.390 3.30
<TZF> 43. EEFEEM PERF
[AE#1]
BHER BHERS =i | BRE| BEY = 1K
kv &8 K % JUAF i B A B#H =1 =iE i \ B /e | S | PR | B A fm &
& E*EN LEXF |FH &3 Tho B e 470 3.61 8.31 | 8.310 0.050 3.560 3.32
<BF> 44. EFEM PEBF
[AE# 1]
B8R BH R R¥E | RE| D = K
Bz FE=] K % JUAF Fr B AR BfH =1 £=hE, i \ BFfisl BR | ER | IR | BR fm &
& B LERF  |EE M IFEE, HEL BE 480 3.58 8.38 | 8.380 0.010 3.570 3.50
<SBF> 45. B HKESF
[AE#1]
BHER BRI =i | BRE| BEY =R iy
kv &8 K % JUAF T B A B#H =1 B A | BRI /e | S | R | B A fm &
& E#FEHMA RERF (KA K —# TEE HTE BE 4.90 3.58 8.48 8.480 0.030 3.610 3.58
2 EREM REBF (KX # FoHL =173 At AL 4.90 353 8.43 8.430 0.010 3.540 3.48
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<8B&> 46. BEEEF =705
[AE#1]
BB BFH R R | BR=E=| &% =R iy
v &8 K % JUAF T B AR B#H = =iE i \ B /e | S | PR | B R i &
& | EHEHMA =708 |BAAEF-RHE LWL AHT  IE5VAL - La 4.80 3.56 8.36 8.360 0.030 3.530 3.48
<BF> 47. EHFEM 2EBFO
[AE# 1]
BEhEsa BH R R¥ | RE| EY = K
JIEfiz FE=] K % UAF Fr B A BfH =1 £=5ig, i \ BFfisl BR | AR | FHR | BM fm &
& E#HESM LEBF  (dF KB 2L =L EL BE 5.00 3.80 8.80 8.800 0.050 3.850 3.70
<&ZF> 48. B PEFELZFO
[AE#1]
BHER BFH R R | BR=E=| &% =R iy
kv =8 K % JUAF T B AR B#H =1 =iE, i \ iS5} R | AR | PR | B8R s &
& E#EHMA PEXF  |HE S8 Abf-b HAL BE 4.60 3.36 7.96 7.960 0.050 3.410 3.35
<ZF> 49. B RETZFO
[AE# 1]
BEhEsa BH R R¥ | RE| EYD = K
JIEfT b= K % JUAF Fr B A BfH =1 £=ig, i \ B BR | AR | PR | BM fm &
& | EHHSM REXFQ |EX BHAF EVEE HTH BE 4.80 3.46 8.26 | 8.260 0.010 3.470 3.45
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